1. REEERITINR (FH4F12H7)

xtbAE | XtRs xS AEH &8 (M)
12H2H 2B AEEDVFRERZEISGICH S EEImICH D B m 3,267
12H2H TOft | MITEHERZERS EOmAKOT (REmM) 4,000
12H2H =8  |WHTEREBREGERIERENETHRON(ZE) 2,000
12H2H =8 | REREHFTENNTSHENESLEREDOH(ZE) 7,000
12H5H =5 | LEBRRRNERE (GEFENE) RENESHREOH (ZE) 7,000
12H6H =85 | HUEARZERBRSEEOIN(ZE) 5,000
12H7H BR  |RMBE ERFE SO (EH) 5,000
12816H B | REEEISHFMTEESR IWEAZDHERIER Y VE) 16,500
12H16H B |RSEE amnEBRE0i(FER) 3,500
12R16H Tt [RIBRBLESZESFANEmEDOH FER) 87,500
12H16H EMELSTAEITENFEENSI VS EFHEASHESICH S Bhm 2,200
128198 B |NRREE FHE - SHIADH(FH) 5,000
12H22H =H  |ENERRRRFRERENMESLEORT(ZE) 5,000
a 3 152,967




2. % FH(PH4FER)

bRy | H(ERY) | REHER | 2EERD) | RE#

= = 5 20 26,000 99,000
- i 2 17 20,000 104,000
B & 2 15 10,000 238,950
8 & W 0 0 0 0
B & 0 0 0 0
> i 2 9 5,467 91,267
T D 2 19 91,500 264,430
a 5 13 80 152,967 | 797,647




